Bl RATH A R4 7 R & il B & 55 5 P IR & Fl 2128 2 i i 19 28 EAS A BT
B HE T 2 58 AL I A ZE AT (] EE W] - 0 W T2 WEAS 2 A AR 2 i 2 i 2 AT
1] 28 1 179 25 7 2 2 AT 1) B % 5 JA 265 T 7 2L A9 A o] 18 5 7R 8 AT 1] ZC AT

G Fusd

PAK FAH YEOW INTERNATIONAL LIMITED
BEHBERARAF"

(B F2 7t Ml or 2 F R4 Al
(e AL 5% = 239)

BRREFAKEEE
%E*ﬂi/\ﬂéﬁ FT—WENH A H (BY =) FF =R =0 BEEE
AT a5 22 zssyﬁﬁﬁaﬁpﬁzﬂﬁjcgﬁr“lzﬁ o B SR AT I R AR R e DA iR B

T IE -

1.

BRELAEBHE T =ZF+ A=t —"HIFEZMHERREESRG I
S A BRI A

(a HRBZE _F—=FT-A=1T—HILFERBKE -
(b)) HR#SZE _-F—-=FTHA=1T—HILFEERENRE -
HOEBRESE A LA ES -

HE R M e (B AT 57 JF AT SR JLAR) Zy RS RS R AT
# o

AN ERGHEHEENE -
AR M 35 35 T S5 P A BRI A I D A3 M R E A AT <

f Fa 5 RO 2% 0 W CF o 47 75 6 4T) T 91 Mk 8 B 7 26 ) 2 3
ek E



(B -

(@) TEFXMBIZHRT > — M AR AR A 7 & FH e A BRI 8
Fe R 30) N RE A R R B A TS 32 o A BR S A (B 32 )
w5 75 b TR B AT ] A BE AT R 5 22 5 T N REAE ET 2 BLE o AT A ]
—UIHE T > W RE BT sl AR N\ 2 By T RE b T I A8 S A M B S S S A
% B S 28 B aR nT A e AR 2 AT A A R S5 58 ) B > B B AR m] AR
Hp A B T (EL0.05 4% JT 2 LAy

(b) AN EHE S R L SC(a) B2 HEFRZAE AT [ 0] 2 AR 2N | B0y T (E AR A
AEB A AR FEEERE AN FE BT AT EEFEZ10% > T
b Al E TR ZE 2 SU B BR ) 5 K

(c) WUAREEMS > [ARMHEIIEHARKREEERE HER T =%
i 2 B R 22 W

(i) A2 FT i e A AR A R

Gi) T 5O O s A A Al 2 2 w40 B A A 8 A 6B
fREWZ H R

El
=

HRAAFR

(iil) R HOTA A 2wl B AR 200 20 2 2 Rk 58 A (o] s A8 T A R 5 P
ZRMEZH -]

TE R R RIS IE > 5 8 I 88 CR A BB TIIRER AR A Z Bl

Bk ¢

EEE

(a) £ P () B ZHIRT > — i SR AR HEHEAS 2wl 55 & A B ) O
Fe N30 WATMEA LN A — UIRE S DLRC 35 - 34T Mo BEAR 24 m) A v 4
J I {EL0.0595 T8 Z FHAN 4y > LA S AR H sldR th 7 28 sl i) BE AR B AT (5% 55
E) 2 B w ~ Toh e S BORE (G4 W] it 5 AS 00 mI ey 2 M8 2 - WRM
R S e RS



(b) B3 (a)Befiridt Z e A 2w HE e A B Y ) 2 28 5 30) IfE
B % i e AT %‘?%ﬁ/\ﬁ%‘%ﬁﬁF‘E’ﬂziﬁliéﬁ@&#’fﬁéﬁzﬁﬂﬁi Tt
i S PR (6 458 T AR oy A 8 W Iy 2 AR 0~ RRBORE R M AR R R

(c) 7% ) S MR b ST (a) B T A A T T 3 A A0 A1 Bl A F ] A I %
(A il A2 7 4 7 D s R A i DA P 98 ) B A 22 B AR T L A B (A £
FEOMIE LB B G2 2 7N 30) 5 QD) MKIR A AT 5 R C PR 4 7] % 7 8L 47
A ) B B R A 2 RER T AR A W) B ECHAT: AT Y IR 4 R B 2
JRE T ) S AR R D) 22 % PRI S8 47 2 ey 5 BRGEDIRIEA 2 FIARRF B RT 2
2% ) AR DL BB F B B AT Y > AN AR R A P S n'%”"*EIZIK
N ) AT IROAS T (B AR RE 2 20% 5 b Rl bk E N JE 32 SRR BR A

() MAREENS > (AR EhARRRE 8T ER T =%
EPEQZEI%@JLZE@FQ 3

() AN FEE E B R A K g A R R

(i) SR IE B A 2N /] 2 2N A 40 IR 8 A 2N R 8 BR AT R e B A AR K
a2 WRERZ B 5%

(iil) AR AR 2 R R OR B 2 2 0 200 R el S R0 [ A T AR R sl 5 P 2
ZEMEZH 5 &

[C B i B | 3 4 AR 0% R 3 3 R P S U T A AR R RS R — i e R Bk H 47
B IBEHR 44 M 22 BEHR % H 22 355 IBC B A91] 1) A 25 2t 2 JBE 4 IC B ek (AR
O3 ) HE R A R A R T AR ] 22 A i DA ST ] [ 2 3% ]
IR ) 58 AT BAE AT 3 Tﬁﬂﬂ%%jﬂfﬂ 87558 5 it < g > A R
W B B R R e A 2 )

9. AERFERIEIA > B RE LM EE R A BB NIIRERE AR A E 2 EE

RERE



BEERBER

(B EIF A ARG 2 #5567 RS TR IR R M R A% - 35 I AAHE IR A
8 VAR $E A B A K g 2 4 4 i i 2 557 T R S R R (] AR N m AR A 2 I Ay
HHARH B> IR KRR ABARG 2 @G FHIRERE TAL
A S AR - AT MR M BAMNR A 2 — B o M R ] Ry 2 B TS
R AR N A BAAS K 2 il T S 7R R A 2 B AR A R B BT A T (H
HEH 2 10% © |

K G
BiEHBEBRERATE
BERR

» ZE—FENH++LEH

JUA Rt R B Bt & LR 2 AR R R BRI A HE R AT — 2 B 2 AURACH i R - %
TR AR N AR

PR BT R R 58 N\ 2 S S AR S SO () SRS h 2 78 N\ 38 8 W 2 % 55 S0
RIAS o ZHA R & B ] 46 6 915 7 SR AT I ] 48 /0N IRy AT 78 S AS 4 W) 22 M e =k R B T B SE B
Hohb 2 B S AT AT R E M T RERL -

ARAFGER F—WEANA =0 (B —) 2 -F-MNEA] Z+HHA (E=) (845
FE WY K ) W {5 B o 5O T T AR o M AT S R BOROE AR R B AR > TR 2
5 R A A B B AAZHIR —F AN H (B PR =420 Z 6 &
(] AR 28 ) 22 A o BB 8 5 5 R AR A IR A > HhE A F s R KE R — T =R
A b A R o

AR —F—-NEEA HER (BN 2 —F—-NEEAHAH (BEPL) (BFEEE®
TR ) 45 SR f3 2 FOB RC T A o A OB R 2 R B R B R L B S B A PRI R
JB 0348 5 A% R AT B IR S > OB AL H N H (B=) TR =142
Rl > SR AR 28 R 2 A s I i P OB RO P AR A BR A R uhk 5 i 2R KR — A+ =
SEG A L A TR -



S BRACE A3 RRATA SR 7 o A/ 7 S A T 8 U A4 e 2 K S B
AT o A AT 2 B R B — I A b H AT RO 2
Wik -

T L EHR A - R4 r] # 2 il A B35 ()R B 1T B 7 B K B
JEE 5 R(ii) = WL B AT AR LA R IE A R -

* fELE A



